ArC

by Schneider Electric

Installation Guide Smart-UPS™ RT

SRTGRK2 Tower to Rack-Mount Conversion

Important Safety Instructions

Read the instructions carefully and look at the equipment to become familiar with the device before trying to install,
operate, service or maintain it. The following special messages may appear throughout this document or on the
equipment to warn of potential hazards or to call attention to information that clarifies or simplifies a procedure.

The addition of this symbol to either a “Danger” or “Warning” product safety label
indicates that an electrical hazard exists which will result in personal injury if the
instructions are not followed.

This is the safety alert symbol. It is used to alert you to potential personal injury hazards.
Obey all safety messages that follow this symbol to avoid possible injury or death.

A DANGER

DANGER indicates a hazardous situation which, if not avoided, will result in death or serious injury.

WARNING indicates a hazardous situation which, if not avoided, could result in death or serious injury.

A CAUTION

CAUTION indicates a hazardous situation which, if not avoided, could result in minor or moderate injury.

NOTICE

NOTICE is used to address practices not related to physical injury.

Product Handling Guidelines

<18 kg 18-32 kg AL 3255k >55 kg
<40 1b 40-70 1b W 70-120 1b >120 Ib



Package Contents

Inspect the contents upon receipt. Notify the carrier and dealer if the unit is damaged.

One Rail Kit with instructions and hardware for | Installation manual
installing rails in a rack.

(x1)

Packing list

= [

: ‘
[N

p—g

M5x12 Phillips flat head screw
to secure the rail to the pillar

SRTGRK2 is compatible with all the variants of the following models:

SRTG192XLBP2

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion




Tower to Rack-Mount Conversion of XLBP

A CAUTION

RISK OF FALLING OBJECTS

- The equipment is heavy. Each battery module weighs 24.5 kg (54 Ib).

- Always practice safe lifting technigues adequate for the weight of the equipment.

- Use the battery module handle to carefully slide the battery module in or out of the unit.

- Do not use the battery module handle to lift or carry the battery module.

+ Always install the XLBP at the bottom of the rack.

- Always install the XLBP below the UPS in the rack.

Failure to follow these instructions can result in equipment damage and minor or moderate injury.

o
L
A A A A A A

R R S R RISy
T S S S SRS
B e e R I ST IR E Y
R e S S S S R e
R S R O R I RO Y
B R R R R R R R R R R
R R R O I IR IS ISR ORI
B R R R e R R IR,
R R R R I R NI
S A S S A e N S S S A S
R N R R P e R A L SRR Y
S R I e S S SIS I SIS
S SRR RS
SRR

SISy
S ISP RES RIS ISR
/OM R R SR E DS R T

( o

R P P R PP =Y
R T N T R R

e SR
A A A A A S ST SIS S TSI SIS

ERA ey SIS
S S R S S S A S N S S S

S asananaNanIe T
L SN G kS kil ks Rl kS s R ksl

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



Install battery pack in the cabinet

The XLBP installation process is identical for all models.

A CAUTION

RISK OF FALLING OBJECTS

- The equipment is heavy. Always practice safe lifting techniques adequate for the weight of the
equipment.

+ Always use the recommended number of screws to secure rack-mount brackets to the XLBP.

- Always use the recommended number of screws to secure the XLBP to the rack.

« Always install the XLBP at the bottom of the rack.

- Always install the XLBP below the UPS in the rack.

- Use the battery module handle to slide the battery modules in or out of the XLBP.

- Do not use the battery module handle to lift or carry the battery module.

Failure to follow these instructions can result in equipment damage and minor or moderate injury.

€ Secure the front of rail (SRTGRK2) with 10 (M5x12) screws.

)

\i=y=y=isy=ysimysy=i=yyui=y=ysi=ye)

PPy

Filii it
s

il s

iy

=}
3

\

J=}
5

=}
3

A
ol e i

6 Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



@ Secure the rack-mount brackets to battery pack with 8 (M4x8) screws.

O Rest the XLBP on the rail (SRTGRK?2) shelves.
Slide the XLBP into the rack.

QQQQQQQQQQQQQQQQV\

Eﬁﬁnﬁﬁnﬁﬁnﬁﬁnﬁﬁﬁ/

'y
A
oo

[Eysy=i=ye e ynyeayayayayaiaywyaa) e aay e ayaj=y =y}

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion




© Secure rack-mount brackets to the rack with 4 (M5x12) screws.

A

B8R aEREataEtaa 08ttt aa et 8

\QDDQDDQDDQDDQDD@

Nujuiujujuinjciuiujafuiulia)
b ’

//

opgogdoggg > > L0000

@ Install four battery modules.

A

\EEEAaa a8t EEaaa a0 Sn B an A Eaa a8 | g

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



@ Secure the battery modules to the battery pack with 8 (M3x8) screws.

Eﬁﬂﬁﬁﬁﬁﬁﬂﬁﬁﬂﬁﬁﬁ/

bﬁﬁﬁﬁﬁﬂﬁﬁﬂﬁﬁﬁﬁﬁﬁ

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

Bt ungunoononUooouuouugy

=)=y ey ey ey Y ey ey ey Sy ey e ey wy e =y sy ==y =LY




© Install the front bezel of XLBP.

10

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

[E)sy={sy=y=iuyuy=i=ymyei=y ey ==y sy ={=] sy ==y wy=j=yay ==y =]}




Tower to Rack-Mount Conversion of UPS with XLBP

A CAUTION

RISK OF FALLING OBJECTS

The equipment is heavy. Each battery module weighs 24.5 kg (54 Ib).

Always practice safe lifting techniques adequate for the weight of the equipment.
Remove the battery modules before installing the UPS.

Use the battery module handle to carefully slide the battery module in or out of the unit.
Do not use the battery module handle to lift or carry the battery module.

Place the UPS on the table to remove the mounting base.

Always install the UPS at the bottom of the rack.

Always install the XLBP below the UPS in the rack.

Failure to follow these instructions can result in equipment damage and minor or moderate injury.

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion 11




12

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion




13

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

14



Install UPS with XLBP in Rack

The XLBP installation process is identical for all models.

A CAUTION

RISK OF FALLING OBJECTS

- The equipment is heavy. Always practice safe lifting techniques adequate for the weight of the
equipment.

- Always use the recommended number of screws to secure brackets to the UPS.

 Always use the recommended number of screws to secure the UPS to the rack.

+ Always install the XLBP at the bottom of the rack.

 Always install the XLBP below the UPS in the rack.

 Use the battery module handle to slide the battery modules in or out of the XLBP.

- Do not use the battery module handle to lift or carry the battery module.

Failure to follow these instructions can result in equipment damage and minor or moderate injury.

@ Secure the front of rail (SRTGRK2) with 10 (M5x12) screws.

7FY

TEET
£ it

o
&

il i e 4

@ Secure the back of rail (SRTGRK2) with 8 (M5x12) screws.

v\
e@ac/

)
Soootoceoooosesoel
'
H

\

P - - N N . B
Co=sen \\
f’&

™

Eoooooooooooooooo

TR
VA

24

-

=
Fi

=
5.
]
3

ki

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

15




16

Secure the rack-mount brackets to battery pack with 8 (M4x8) screws.

Rest the XLBP on the rail (SRTGRK2) shelves.
Slide the XLBP into the rack.

\.

|
E
o | d
ol | 9§
ol |0
ol |9
o | ¢

g |9 B

ol | Q a

al (U i

o| |9 o

ol |0 a

ol | U il

ol |9 o

g o

g o

o

o

o

g

g o

: ’

™ ]

~ :

o

e

il

o

g

o

o]

o]

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



@ Secure the rack-mount to the rack with 4 (M5x12) screws.

A

“ondoodondoodoodonfood oot oo

\EDDDDDDDDQDDQDD@

Install four battery modules.

A

el le e ia et alata o e fa et e

17

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion



@ Secure the battery modules to the battery pack with 8 (M3x8) screws.

Eﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁ/

gCAQQQgmmQQQQQQQQQQQQQQQQQQQQD\

Eﬁﬁnﬁﬁnﬁﬁnﬁﬁﬁﬁﬁﬁ

18 Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

Eooiodguongadiyonuuouonnunoouny




© Secure the front of rail (SRTGRKZ1) with 6 (M5x12) screws.

N

o)

%

brobes®

@ Secure the back of rail (SRTGRK1) with 6 (M5x12) screws.

/\

[SEL=T==1)

bocbockeckechasbodkokbbobdobe

55555sﬁﬁ@@@ﬁﬁaﬁsasﬁazaﬁabﬁaﬁﬁa/

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

EoCCUCEU U0 LEU 00U oE 0L OO B EO D Un O\

SoooooruoSoUuCSUooo oo o oo 0 Souaa e\

19




@ Secure the rack-mount brackets to UPS module with 8 (M4x6) screws.

@ Rest the UPS module on the rail (SRTGRK1) shelves.
Slide the UPS module into the rack.

20 Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

\=j=ysisy=yaiuynyaiejeyuieyeyaiayeyaiayeyai=) =)=y eyai=y =]}




@® Secure the rack-mount brackets to the rack with 4 (M5x12) screws.

@ Install the front bezel of battery pack.

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

e e e e e ey e Y e ey e e e e e e Y e e ey = e =y =Y = =Y =Y }

[Eysy==yeyatny sy ) ey wy == syaiuj ey ==y sy ==y y=|=y)y

21



@ Install the front bezel of UPS module.

22

Smart-UPS™ RT SRTGRK2 Tower to Rack-Mount Conversion

ey ey ey ey ey e Y e e e e e e Y Sy e ey sy e ==Y







APC by Schneider Electric
Worldwide Customer Support

Customer support for this or any other APC™ by Schneider Electric product is available at no charge in any of
the following ways:
» Visit the APC by Schneider Electric Web site to access documents in the APC by Schneider Electric
Knowledge Base and to submit customer support requests.
—www.apc.com (Corporate Headquarters)
Connect to localized APC by Schneider Electric Web sites for specific countries, each of which provides
customer support information.
—www.apc.com/support/
Global support searching APC by Schneider Electric Knowledge Base and using e-support.

» Contact APC by Schneider Electric Customer Support Center by telephone or e-mail.
— Local, country specific centers: go to www.apc.com/support/contact for contact information.

For information on how to obtain local customer support, contact the APC by Schneider Electric representative
or other distributor from whom you purchased your APC by Schneider Electric product.

Customer support and warranty information are available on the APC by Schneider Electric Web site,
www.apc.com.

© 2020 APC by Schneider Electric. APC, the APC logo, and Smart-UPS are owned by Schneider Electric
Industries S.A.S., or their affiliated companies. All other trademarks are property of their respective owners.

EN 990-91335
09/2020


http://www.apc.com/
http://www.apcc.com/support
http://www.apc.com/support/contact
http://www.apc.com/

